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WUms: Jata: ___ Ouenka:___
7,21 x 10% = 9,22 x40% =
7,05 x 60% = 9,59 x 90% =
9,62 x 40% = 1,74 x 20% =
6,26 x 80% = 3,73 x50% =
8,55 x 80% = 0, 78 x 30% =
6,62 % 90% = 5,6 x10% =
1,12 x 80% = 0,5 %x90% =
8,34 x 30% = 7,41 x 70% =
1,46 x 50% = 5,76 x 80% =
5,22 x 80% = 1,69 x40% =
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Beruncnuts MMPOUCHTHI ACCATUYHBIX 3HAKOB

Nwms: Jlara: Orenka:

7,21 x 10% = 0.721

7,05 x 60% = 4.23

9,62 x40% = 3.848

6,26 x 80% = 5.008

8,55 x 80% = 6.84

6, 62 x 90% = 5.958

1, 12 x 80% = 0.896

8,34 x 30% = 2.502

1,46 x 50% = 0.73

5,22 x80% = 4.176

9,22 x40% = 3.688

9,59 x90% = 8.631

1,74 x 20% = 0.348

3,73 x50% = 1.865

0,78 x 30% = 0.234

5,6 < 10% = 0.56

0,5 x90% = 0.45

7,41 x70% = 5.187

5,76 x 80% = 4.608

1,69 x40% = 0.676
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